
Question about TASTE concurrency view

Dear Maxime,

I’m trying a simple example in TASTE to play with the Concurrency View, and I don’t get the expected behaviour. I define a single funcƟon
A with a cyclic interface with period 10ms and WCET 5ms. But when I simulate the execuƟon, in some instance the execuƟon Ɵme is
longer than the configured WCET. Do you know what I could be missing?

Interface view:

Deployment view:

Concurrency view properƟes:
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Unexpected execuƟon Ɵme (it occurs several Ɵmes, showing just one here):
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